
EXERCISE # 1 
A. 

Q.1 - 
 

Q.2 
? 

Q.3  - 
(A) 
(B) 
(C) 

Q.4  
? 

Q.5 - 
(1) 323 K (2) 600 K 

Q.6 A  B 350 K 
375 K 

Q.7  
(1) 
(2) 
(3) 

 

Q.8  : 
 

Q.9 
(1) 100ºC (2) 0ºC 

 

Q.10 

Q.11 
 

Q.12 
Q.13 
Q.14 

Q.15 100ºC SI 
( ) 

Q.16 270 K 
 

Q.17 
 

Q.18 
B. 

(  30–40 ) 
 

Q.19 , 

Q.20 

Q.21 

Q.22 
? 

Q.23 

Q.24 22.5 × 105 J/kg 
? 

Q.25 

Q.26 

Q.27 

Q.28 

(1) 
(2) 
(3) 

 

Q.29 , 



EXERCISE # 2 

A. 
(60–70 ) 

Q.1 
(1) 
(2) , 
(3) 
(4) 

 

Q.2 

 

Q.3 , 
-

 

Q.4 

 

Q.5 ( ) 

 

Q.6 
 

Q.7 
? 

B. 
Q.8  , ............

Q.9  .............. -

Q.10 ...........
 

Q.11 273ºC , ..............
 

Q.12 ..........
 

Q.13 1 kg 
.............

 

Q.14 100ºC ..............
 

Q.15 / ,..............
 

Q.16 , 
..............

 

Q.17 ..............
 

Q.18 ..............K 
..............K 

 

Q.19 ..............
 

Q.20 ..............
- 

 

Q.21 , ,.............. 
 

Q.22 ..............
 

Q.23 ..............
 

Q.24 ..............



ANSWER KEY
, 

EXERCISE # 1
1. ( ),  ( ),  ( ) 2. 
3. (A) (B) (C) 4. ,
5. 50ºC, 327ºC 6. B
7. (1) (2) (3) 8. 
9. (1) (2) 10. 
11. 12. 
13. 14. 
15. 373 K 16. – 3ºC 
17. 18. 

EXERCISE # 2
8. 9. 10. 11. 546 K 
12. 373 K 13. 14. 15. 
16. 17. 18. 373 K,273 K 19. 
20. 21. 22. 23. 
24.




